ECE 320 - Quiz#1 - Name

EE 206 Review. August 31, 2017

1) Give N current loop equations to allow you to solve for the N unknown currents in this circuit
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2) Give N voltage node equations to allow you to solve for the N unknown voltages in this circuit
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3) Find the voltage at Y for a 10V DC input.
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4) Find the voltage at Y for a 10Vp AC input.
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5) Find the voltage at Y for an input with a DC and AC component.
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Bonus! There is a lot of talk over the past 2 years about health insurance. This discussion only makes
sense if you know what insurance is... What is insurance?
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